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Frok EaR $45F- PERIIAR PER | 44H
329 | 41171104 |[RolE PO+ Bl BB o 2 — F P HT47111 3 2000
330 | 41171250 |#BolH PO+ Bl BB o 2 — & £ )147112 1 4500
331 | 41171202 |iRofE PO+ Bl BB o 2 —F £ )T47112 2 3500
33) | 41171249 |EoF PO+ Bl BB o 22— £ )147112 3 2000
333 | 41071136 |fTJo& PO+ ERHEE 8 2« — 5 PT47121 1 4500
334 | 41071122 |Bofh PO+ ERHEE 8 2 — 5P PT47121 2 3500
335 | 41071123 ko PO+ ERHEE 8 2 — 5P PT47121 3 2000
336 | 41071234 |Blo= PO+ ERHEE 8 2 — & £, 1147122 1 4500
337 | 41071218 |%oRE PO+ ERHEE 8 2 — & 2, BT47122 2 3500
338 | 41071247 |80 PO+ ERHEE 8 2 — & 2, B147122 3 2000
339 | 40971103 |[FRoif PO+ Bl BB o 2 — FF P HT47131 1 4500
340 | 40971130 |#fo)E O+ Bl BB o 2 — F P HT47131 2 3500
341 | 40771104 |EZo¥ih PO+ Bl BB o 2 — SF P HT47131 3 2000
342 | 40971211 |Ro## PO+ Bl BB & 2 — F £ 1147132 1 4500
343 | 40971253 [}LoFR PO+ Bl BB & 2 — F £ )147132 2 3500
344 | 40971208 |[HotE PO+ Bl BB & 2 — F £ )147132 3 2000
345 | 41123302 |EfoZh PO+ Bl e : — 1B IT4901C 1 4500
346 | 41123317 |3Eofs PO+ Bl e 2 — 1B 3T4901C 2 3500
347 | 41123306 |TotFf PO+ Bl e : — 1B 3T4901C 3 2000
348 | 41023315 |EoB) P05 2055 2 — F 1B IT4902C 1 4500
349 | 41023301 |[3E0=E 03 1S 2 — 1B DT4902C 2 3500
350 | 41023309 |#Roff 03 1S 2 — 1B DT4902C 3 2000
351 | 41141204 |EZofAl i EEE A —E1BH49pP1C 1 4500
350 | 41141206 |ERo¥F i EEE A —E1BH49pP1C 2 3500
353 | 41141216 |Eol8 i B EE A —E1BHT49pP1C 3 1000
354 | 41141203 |PEoZ i B EE A —E1BH49pP1C 3 1000
355 | 41041209 |3RoFE T2 E & % F 1B IT49P2C 1 4500
356 | 41041210 |0 T2 E & % F 1B IT49P2C 2 3500
357 | 41041219 [ftot¥ T2 E & % F 1B IT49P2C 3 2000
358 | 41147216 |&Eo¥m PO+ B AR A — 1B IT49QiC 1 4500
350 | 41147202 |S=oif PO+ B AR A — 1B IT49QiC 2 3500
360 | 41147214 |ERo%m PO+ B AR A —F 1B IT49QiC 3 2000
361 | 41047316 |FFo%E PO+ 24 2 — FEYT4902C 2 3500
362 | 41047304 |RoZh PO 24 R 2 — FEYT4902C 3 2000
363 | 51115101 |=oB hEHE TR —FFH51511 1 4500
364 | 51015113 |ZFo hEHE TR —FFH51511 2 3500
365 | 51115124 |TofF hEHE TR —FFH51511 3 2000
366 | 51015106 |EfoiE TEIFE TR _F8Y51521 1 4500
367 | 51015133 [JJiol] HEIFE TR _F8Y51521 2 3500
368 | 51015114 |SZoBT HEIHE TR _F8Y51521 3 2000
369 | 50915112 [EZo®l hEHE TR =FF)51531 1 4500




Frok Bk 4 PERITAR PER | 4%E
370 | 50915101 |ZBo&E hEIET R =FFIH51531 2 3500
371 | 50915108 |7703E hEIET R =FFIH51531 3 2000
372 | 51133103 |EBo% T BB R—FPH53311 1 4500
373 | 51133116 |#Ho&N T EIERR—FPFH53311 2 3500
374 | 51133125 |[#Ro=F T EIEER—FPH53311 3 2000
375 | 51033101 |#HojE T EIEER —FHH153321 1 4500
376 | 51033133 |FFofiE T EIBEER _ FPH53321 2 3500
377 | 51033102 |#HoA T EIEER —FHH153321 3 2000
378 | 50933103 |EoR T EIEER =FPFH53331 1 4500
379 | 50933107 |Z o T EIEE R =FPFIH53331 2 3500
380 | 50933119 |#50#% T EIERER =FPIH53331 3 2000
381 | 50833108 |Eofh T B RBRIYFE P HE53341 1 4500
382 | 50833117 |[Foi5H T EIER R FEPHE53341 2 3500
383 | 50833101 |FFohd T EEERERIYFEPHE53341 3 2000
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